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D x243xy—292 = (2x+y) (x—2y)

@ x(y-1)-y+1=0p-1(x-1)

® ¥ —dx=x(x-2)°

@ x2-y?2 -2 +2y=(x+y)(x-y-2)

® (2x+1)°-(x-2)=Bx-1)(x+1)






3. H= T deEsivhurEA 2 A2

@ 4a® - 2ab = 2a(a - b)

@ x% +20x—100 = (x+ 10)?
® —x*+1=(x+1)(-x-1)

@ x?-Tx+12=(x-2)(x-6)

® 10x? +23x-21 = (x+ 3)(10x - 7)



4.

(2x=5)(x=3) = (3x+2)(x - 3) & dg=ofictH?

O (x+3)(x+7) @ —(x+3)(x+7
® —(x=-3)(x+7) @ —(x-3)(x=17)
® (x=3)(x+7)



5. (x+6)(x+2 o], A ko] GFS Fotoiet
)+k 7]_91.;41 11]51_A1o =
A Algalo] 2 A ko 5
e = ool

Bcx=



6.

y<x<0¢ o, \/x2—2xy+y2+ \/x2+2xy+y2%

Do @ 2x-2y ® 2x
@ 2y ® -2y
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@ 6x2-x-15

© (2x+5)*-3(2x+5) +2




O|ZH4 x* + Ax + B

8.

@ (x+1)(x+6) ® (x-2)(x-6)

D (x+2)(x+6)
@ (x-1)(x-6)

® (x+3)(x+4)



tha S Aol 2ol &4

@D 4x? +12x+9 = (2x + 3)?
@ Loy +1—(1 +1)2
4x X = 2x i

1= ()

2 _ - -

® x X+ x5
@ 3x24+6x+3=3(x+1)2

® x%+10x+25= (x+5)?



